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ROFEEZLELLD,
(1) 5+ 0.3 (3) ———0.5
(2) —2—+ 0.2 (10) —=—— 025
(3) —5—+ 0.4 (11)—5—— 0.3
| 2 _
(4) ——+ 0.8 (12)—5-— 0.4
(5) 0.6 +—o— (13) 0.2 ——4—
2 5
(6) 0.5 +—=— (14) 0.9 ———
(7) 0.25 +% (15) 0.8 —%
| 4
(8) 0.9 +—— (16) 0.7 ———
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F A Au( )
ROFAEELELL,
2 _ 2 3 5 _ _ 5 _ |
(1) 5—+ 03 =—S-+—5 (9) ——— 0.5 =— 5
_20 .9 _29 _lo_ 7 _ 3
30 30 30 | 4 | 4 | 4
5 __5 | 5 _ _ 5 _ |
(2) 4=+ 02 ="7-+— (10) ———0.25 =— 4
_25_ . 6 _ 3l _ 20 _ 7 _ 13
30 30 30 28 28 28
| o 2 | _ 1 _ 3
(3) —5—+ 0.4 =——+—¢ (1)—5——03=— 5
_5 . 4 _ 49 _10_ 9 _ |
| O | O | O 30 30 30
| _ | 4 2 _ _ 2 _ 2
(4) —g—+ 0.8 =——+—¢ (12) 5——0.4 =3 s
__5 .36 _ 4] _10_ 6 _ 4
45 45 45 15 15 15
4 _ 3 4 N e
(5) 0.6 +—g—=—%—+—3 (13) 0.2 —— = 5
_ 27 . 20 _ 47 _ 9 _ 5 _ 4
45 45 45 45 45 45
2 _ | 2 _ 5 _9 5
(6) 0.5 +—5—=——+-3 (14) 0.9 ——¢ 0 6
__ 3 .4 _ 7 27 _ 25 _ 2
6 6 6 30 30 30
| | _ 4
(7) 0.25 + 3= + 3 (15) 0.8 > 5 >
_ 3 4 _ 7 _ 8 5 _ 3
12 12 12 10 10 10
| _ 9 I _ 4 _ 7 4
(8) 0.9 + g = IO+ g (16) 0.7 7 0 7
:8I_|_IO:<?I _49 40 _ 9
gq0 gq0 90 70 70 70
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	分数のたし算引き算(小数） (1)

